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574) 2sin (sin —4x) + C 575) 4cot (-1 +1n -x) + C 576) —tan (5x% + 1)+ C
577) 4sec (cot =5x) + C 578) —5sin (eS" + 3) +C 579) csc (5x° +2)+C
580) —cot (1 +1In 4x) + C 581 4cot (e™ = 1)+C  582) cse(5x°-2)+C
583) 5sin (-4 + In 2x) + C 584) dsec (e +5)+C  585) 4sec (sin—4x) + C
586) —2cot (tan -5x) + C 587) 3sin (4x° +3) + C 588) Ssec (4x? +3)+C
589) —dtan (sec 4x) + C 590) 3sec (4x* -3)+C 591) —2csc (-3 +In -2x) + C
592) —41n |sin (3x* +2)| + C s03) 4~ L

2

B>
2

l-ln |x+3| +§-ln |x—3| +C
2 2

594) 4=2 595) PR——
5 8
B=—Z B=—§
5 8
%-ln |x|—z-ln|x+5|+C x+£~ln |x—4|—£-ln |x+4|+C
5 5 8 8
596) A=—13—3
a4
3
I
?+3x—— In |x+2| +—-In |x—1| +C
597) 4= 5
598) A=-—
B=_% 74
B=—
C=% ?
1 1 C=Z
In |x| +—-1In |x—1| ——-In |x+1| +C
2 2 5

x| - L2 [x 2] v C
4 2x 4



1
599) 4=~
8

oo}

I

— |
A=

\S}

o3t
8

+£'ln |x+2| +C
8

—2x+l-ln |x| +L—L2
8 4x  4x

-—-In |x+1|+ 3 +i'ln|x—1|+i-ln|x+2|+c
2Azx+1) 12 3

l-ln|x+1|+ 4 +&-ln|x—2|—
27 ox+1) 27

603) u =tan x
du = sec? xdx
A=-1
B=-1

cot x + In |tanx—1| - In |tanx| +C



x4l |xa 1] =2t |x=1] + Lot [x-2] 4 C
6 2 3

605) u=e"

1
4

LI ex—1| BRI ex+3| +C
4

607) A =—-
25

608) A =-—

609) u =sin x
A=1
B=-1
C=0

In |sinx| —%-ln |sin2x+1| +C

-1
612) %-tan'ngrC 613) tan™ x+ C

P
616) %-tan‘1§+C 617) sin™ x+C

1 1
620) —-tan"' =+ C 621) —-tan"' >+ C
4 4 3 3

606) A =3
B=-3
C=-1

3In |x| —%-ln |x2+1| ~tan'x+ C

1
610) l-sec*MJrc 611) ~tan' 4+ C
2 2 2 2

614) -tan-1§+c 615) sin'1§+C

618) sin‘1§+C 619) sin‘1§+C

-
622) % “tan™' g +C 623) sin™ x+C



El

. 1
624) sin™ =+ C 625) 1 et 2y 626) el B 627) —-tan"' =+ C
3 3 3 2 2 2 2
-1 1
628) sec™ x| + C 620) £ sec' L0 630) ~tan ' E4C 631) sint S+ C
4 4 4 4 4
-1
632) tan™ x+C 633) L osec' Ly 0 63 Loseet i 0 635) sint 4
2 2 5 5 5
1 -1
636) —-tan' =+ C  637) sin =+ C 638) ~-sec ! 1Ly o 639) se x|+ ¢
2 2 3 3 3
. 3 3 2 1 2 2
640) sin" 2 4 C 641) l.sec—lm_|_ C 642) o' 240
2 3 3 4 4
s -1 3 1 2 2 2 1 4
643) sm™dx"+ C 644) —-tan”' -+ C  645) sin =+ C 646) — - tan™! — + C
4 4 4 3 3
1 2t -1 3 2
647) Loant 2 p o 048) sec 3% + ¢ 649) L sec-! |2x7] ie
2 2 4 4
-1 - 4x° 1 4
650) sec |tan x| +C 651) sin‘liJrC 652) + - tan™! cos 4x c
2 4 4
t LI+ tan -3
653) %-sec_l Jeotx| e 654) sec” |x*] + C 655) sin”! 2% | ¢
-1 in 4 1 in 4
656) tan™! (cot x) + € 657) sin X £ € 658) —-tan~! S 4 C
4 5 5
o2 5x 1 t3
659) sin™' =—+C 660) ~-tan" <+ C  661) —-sec”! [cot 3+ c
5 2 2 4
1 x Sx . In=3x
662) —tan S+ C  663) - sec”! le] +C 664) sin™' +C
5 5 4 4
_ 2x 4 -1
665) see”t || 0 (g %,tan_ﬂ%+ o 667) sec [In2x] +C
-1 _ 1
668) - sec! Jm x| +C 669) sec™ |In -5x| + C 670) 2sin"' > 4+ x4 —x* + C
4 4 272
9 1 1
671) —-sin' = - —x\9—x? + C 672) — tan™' T4 ———< + C
2 3 2 16 2 8(4+x?)
3
Jv2 _ o _ 1A 1 =
673) Vx“ -9 —3sec 3+C 674) —2‘/2—x2+§(2—x2)2-a+C
Vax? — 9 x 677) In |x+ Va2 1]+ C
675) ———~ +C  676) +C
9x V1 - %2
1 X 1 X X
678) —————+C  679) —-sinle +—e'N1-e® +C
\Vox? -1 2 2
1 _ 42 N
680) —(Zx\/ 1 -4x* +sin™ 2x) +C 681) _N16-x" +C 682) _NxT+2S +C
4 16x 25x
L. - 1 Vx?-25
683) E(tan 1x+x2+1)+C 634) Ex(\/xz—ZS +25In x+ ;f | +C

A/ 2 2 _
685) lx(\/5+x2—51n e 5 4| L C 686) X —10 ¢
2 NG 16x




3 /.2
1 = x*+1 1
687) —E(S—xz)2(3x2+10)+C 688) Vx®+1 +In ——_|+¢C
in 6 2x%In x - x° ’1 3
689) sin”! Sinf +C 690 T X 691) 1 1F _%+c
2
3 3 603y =51 1 1
602) 2 x4 )~ 694) 2x°In x - 4x> + C
3 9
695) xInx-x+C 696) xlog, x - X L 697) xsinx + cos x + C
In 2
1 ’In x* - x* ~Inx-1
698) - —>— +C 699) X T Lo 00) ZRETS
2n2 2°-(In2) 2 X
01 Yot + 702) —-xcos x +sinx + C . ¥ 2*
701) xe" —e +C ) 703) X ~ i C
In 2 (ln 2)
704) x%e* - 2xe* + 2"+ C 705) x?sin x + 2xcos x — 2sin x + C
2 2 :
706) -X —2x—2+c 707) —x“cos x + 2xsin x + 2cos x + C
ex
708) 2x(x2-(ln 2)2—32x1n2+2) s 709) Use:u=x, dv=e" dx
(ln 2) fxexdx=xex—ex+C
710) Use: u=x, dv=4""dx 711) Use:u=x, dv=3"dx
x 1 . . X X
[x-4 dx=——— _ StC fx-3 dx == SA ;+C
4 In4 4" -(In4) In3  (In3)
712) Use: u=x, dv=sin x dx 713) Use:u=1In x, dv= N x dx
3 3
[xsinxa’x=—xcosx+sinx+C N 2x51nx 4x5
xIn x dx= - +C
3 9
714) Use: u=1In x, dv=%dx 715) Use:u=log, x, dv=dx
1 * 1 '/AlogzxdexlogZx—iJrC
In x 2 2 In 2
deZZx Inx-4x"+C
X
716) Use:u=1n x, dv= x> dx 717) Use: u=x, dv=cos 2x dx
3 3 -
1 2 2
flenxdeX nx—x—+C v/‘xcosta’xZXSln x+cos x+C
3 9 2 4

718) Use: u=1In 3x%, dv=xdx
2 2 2
In 3x° -
V/‘xln3x2dx=xn%+c

720) Use: u=1n 5x, dv=dx

flnSxdexlnSx—)mLC

722) Use:u=1In x, dv=xdx

2x*In x - x°
[ va-2EE= 0

1
719) Use: u =1n 3x, dv=— dx
X

In 3 -In3x-1
fnzxdx: n 3x e
X X

721) Use:u=x, dv=e""dx

5 S5x-1
fxesde x5 +C
25¢™"

+C



723) Use: u=1In (x2 + 9), dv=dx

fln (x2+9)dx=x1n (x2+9)—2x+6tan‘1§+C

724) Use: u=tan"' 2x, dv = x dx

fxtan_l 2y dx x’tan”'2x  tan”'2x  x
8 4
725) Use: u=tan"' x, dv=dx
In (x*+1
ftan‘1 xdx=xtan™! x - % +C

727) Use: u=1In (x + 3), dv = dx *or use u-subs first

- Z+C

x 1
726) Use:u=xe, dv=—"-dx

3(x + 1)2

xe e
dx = +C
v/A3(x+1)2 3x+3

fln(x+3)dx=x1n(x+3)—x+31n(x+3)+C

728) Use: u=x, dv=csc’3x dx

fxcscz 3xdx=- xco3t 3x N In 519n 3x e

730) Use: u=cos™ 5x, dv=dx

1
(1-25x%)*
5

‘[cos‘1 5x dx = xcos™! 5x — +C

732) Use: u=x, dv=sec’ x dx
fxseczdethanx+ Incosx+C

734) Use:u=sinx, dv=e" dx

X - X
, e“sin x — e'cos x
fs1nx-exdx= 5 +C

736) Use: u=e"", dv=cos 3x dx

e>*sin 3x + > cos 3x
3
fexcos?sxdx: . +C

738) Use: u=sinIn 3x, dv=dx

fsin In 3x dr = xsin In 3x —2xcos In 3x e

740) Use: u = (In x)°, dv=dx
f(ln x)zdxzx-(ln x)2—2xln x+2x+C
742) Hint: try u = In x, dv = \/;dx

3
2 3 4
ZXiPnx-—x*+C
3 9

745) Hint: try u = x, dv = sin 4xdx

1
—i-cos4x+—-sin4x+C

1
729) Use:u=1In x, dv= o dx

X
731) Use: u=sin"' 4x, dv=dx

+C

1

(1-16x2)*

'/Asin‘1 4dx dx = xsin”! 4x + +C

733) Use: u= xz, dv= xeSx2 dx

5 2 : 5x°
fx365x dx = (S)C 1) e
50
735) Use: u=cos In x, dv=dx

+C

xcos In x + xsin In x
v/Acos In x dx= +C

2
737) Use: u=e ", dv=sin 4x dx

4y —cos 4x —sin 4
fsin4x-e4dx= x4 x+C
8e™

739) Use:u=e ", dv=cos x dx

_ sin x — cos x
fcosx-e xdxz—erC
2e

741) Hint: try u = x° + 1
2
VX +1+C
3

744) Hint: simply first

1 3
~_X 4c
x 3

743) Hint: try u = x°
~-sinx*+C
2

746) Hint: try trig substitution

i-tan'1£+C
3 3



747) Hint: try u = x> + 1 748) Hint: use fractional exponents

3 1 X
2 2 2 2 2
“(P+1) -2 +1)+C 2¢” + C
9 3
749) Hint: tryu = sec™ \/;, dv = dx 750) Hint: tryu =1 + 2"

xsee ! Vx-vx-1+C 21n(1+2ex)+C
751) Hint: rewrite f sin® x(l — sin? x)cos x dx, then u = sin x

sin®x  sin’ x
- +C
3 5

752) Hint: try w = 3x2, then u = tan™! w, dv = dw 753) Hint: try u = 1 —
ry ) ry

2x
3x*tan™! 3x2—%-ln (9x*+1)+C S5NV-1-e" +C

754) Hint: try u = 1 — e”, then trig substitution 755) Hint: try integration by parts twice
Ssin"le* + C xle = 2xe* - e')+ C
756) Hint: try u =1 -x 757) Hint: try u = V3x? —x -1

-2sinNV1-x+C 2c0s V3x —-x-1+C



